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BREHE  SM2F1081B(KR)~FF2F10H3 1H(L) (BT = N 9blb/kg)
3L — o o ®REH | . RHERRE] L. EHRRE
== A3l mE FREY (108) 94134 (b594134) 90137 (£994137)

(I EES FRY BBLLIT iR AT 25H(H)| A& 4.3 | AEH 3.5
R EES FrRY ESLUTPFAEHBTAE | 30H(£)| A% 9.0 | A&EHE 7.1
3 [8x HYYME LU= aIET 148 (K)| A& 5.8 | A& 4.8
EES HYIALE BLUBHAMABRNATE| 5H(B)| ~&E 6.8 | A& 5.5
5 |[Bx HYIAE FEIGED 206N & 8.3 | Ai&H 7.1
[ EES YrAE alllBE) 4+ 26H(B)| A& 5.8 | A1&H 4.5
[ EES JvHAE E8L LT PR BT A 9H (£)| A& 5.5 | A& 4.5
I EES —VIY E81LLh HA0EET 198 (B)] A& 8.6 | A& 7.0
9 [Ex NIHYA ESLUTPFAEHBTAE | 30H(£)| A%H 4.7 | AEE 4.1
10 ¥ NIHYA BB PEEHET MR [ 13HCN)| A& 4.8 | AEH 4.2
11 ¥ =ZhkYh BLhEsEE 4H(H)| A&EH 8.6 | A& 7.1
12 |k Gtk m=k®) |FHBEK ELLmPAHEI=HTB [ 26H(B)| A& 4.2 | & 3.6
ENNERE AR S L EN EHT 26H(8)| A& 9.0 | A&EHE 1.7
1% (- E02E|[7HEFY (Zn) |HNT 16H (&) At&H 13.7 102.7 10.6
[ NEREHAEED BB LU 2 EHT 5H(8) 41.6 10.8 687.5 8.1
16 [IUFE - = [7P=H5 (7n) |ZAWmH 1H(R)| A& 6.9 | A& 5.5
17 [l - S0 [ v Ry I XY [BLmEGERTRL THOK)| A&EH 8.7 45.4 7.1
18 [l - = ZFE (1 //\F AL R EET L THOK)| A&EH 9.1 152.9 7.1
19 [l - =nZFE (1 //\F N NEIES 126 (B) 66.6 11.1 1231.5 9.0
20 [IIEE-Z0ZE[1//\F AEmalRE 128(B)] A& 7.7 100.5 5.4
INERET R A EEREE LD .S /N 1H(KR)| A& 9.0 | A&EHE 7.6
YRNERE R A CPPEEPELIEEG 148 (0K)| A& 8.6 145.8 7.3
EENERERH I EPER BB LU 2 EHT 8H(K)| A& 10.6 215.1 8.3
NERE A EPER BB LT E T 148 (0K)| A& 8.7 347.1 6.5
25 [IE-Zn2E[OO57 BRLLIT iR AT 13H(N)] A& 7.3 98.4 9.3
26 [l -Zc2E([OD5T LUl oz | 15H(R)| A& 7.8 178.3 8.6
271 [ -Zn (OO 7 Uil mE | 1983 (B)] A8 6.9 130.3 5.7
ENERE M EPER B =fEMABE] TR | 29H (K) 20.3 12.0 476.7 9.2
29 [E-Z02E[OD5T a8t 108 ()] At&H 9.0 147.8 7.4
30 [IIE-=n2E([OD5T HnmiasHTIEEX [ 195 (B)| A i&Ed 11.5 123.4 9.6
S NERER M EAAEPER —Atth 15SHCR)]  106.9 13.7 | 1872.4 11.0
Y NERE M EAAEPER BEE 158 (K)| A~t&H 13.3 103.8 11.2
33 [IIEE-=nciE|[do55 (@) [BEllm 108 ()] At&H 8.7 104.0 7.3
3 [IIZE-=nciE|[do545 (Zn) [B&llm 1ME(R)] A~&EH 8.3 8.5 6.8
T NERE M APEER EB L™ Pa FH BT 43 5H(B)| A&EH 12.6 | A&t 10.4
36 |[ILE-=DZFE[1595 WER)INAZEINR] 7TB0K)| FMEH 12.5 | A& 10.4
S NERE M AP AES S ;) 2QIH(CN) | & 8.6 18.0 6.9
38 [l - =0 [FS5597 SRRALREAN 198 (B)] A& 7.8 13.7 6.5
39 [lE-=ncE[N\F1TF B8R e O] 128(B)] A& 6.1 78.0 4.9
40 [IWE - ([ TJFH/N\VSS [ERmEtIEENER| 8H(K)| A&l 7.2 | A& 5.5
NENERERMANEED: WER)INAZEINR] 7TB0K)| FMEH 10.9 | A& 9.2
YREES S/IN\1 T AR AT 13H(N)] A& 6.9 | A& 5.9
43 [R=E 7oEe =i 148 (0K)| A& 4.8 | A&EH 4.0
EES ES AL\ = 28H (k)| A& 11.5 | A&t 9.0
45 [BRZ=E kS LTS 5H(B)| A& 6.1 | A& 5.1
46 [ER=E kS LTS 198 (B)] A& 5.6 | A& 4.9
47 [R=E kS ELLUTEANBEISE) | 30H(&)| A& 4.8 | A&EH 4.1
48 [R=E kS 8L = HET 2IHCN) | & 7.7 | AM&EHE 6.3
49 [R=E kS B LT =T 198 (B)] A& 5.6 | A& 4.8
50 |[R=E ] = BESRSRAY 158 (K)| At&H 10.0 111.8 8.4
51 |R=E ] BBLLITH &< H] 1H(R)| A& 7.7 | A&EHE 6.6
52 |R=E £ (#0) —_Atth 1H(R)| A& 8.8 16.5 7.2
53 |R=E £ (#n) —_Atth 1H(R)| A& 6.7 | A& 5.5
EES PIYTRD BB ERILIB R AT 13H(N)] A& 6.4 | A& 5.3
55 [Zofh 8% A roR) [SRERREAH] 13H(N)] A& 4.2 | AEH 3.5
56 [Fofth EEA ERLLIm iR AT 3H ()| AR 6.4 42.4 5.2
57 [Zofb HJRY (EENE) [ERLLTHIEAN 128(B)] A& 12.7 | A&t 10.2
58 |Zofth veIny (/0 BB ET 23H(E)| A &H 7.0 18.7 9.0
59 |Zofth v eIny (/0 |HNER/\EFHT 23H(E)| A &H 8.1 37.9 6.5
60 |R 2 FEXK X (XXK) 1L HA0EET 198 (B)] A& 3.8 | A& 3.1
61 |R 2 FEX X (BX) 1L HA0EET 198 (B)] A& 3.8 | A& 3.2
62 |R 2 FEEXK X (BX) E=EES ] 3H ()| AEH 5.9 [ A& 4.9
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